(K]
[#RHER]
(1R#4e3]

THRiige]
[ B R34 FH]

[ERF XA ERTER]
(BEEBREd]

[#RHHA]

[#RiHE R USERRAH ORE

[RHFEHE]

(%} ]

103G IAP  3#7 27

KEEEREE
TR M6E 1R
MR B R E

7 47V 7 4 BEERREE
fhERGAtE Y- - vz F

R - T He&ES S

ERE1659H30H

FEE156E10A 14H

14

F Ot




%1 [RTSHICET H5ER]

RITRFLOEFF ZHEEERS ST

SHa—F 6357

LB - [FEADR +5

L IBRESFEG T KER

AERER T564-0063 KIRMKEMITRETLT A 13#18%

g2 [{BHEICEY 5FBHE)
1 [REE (REFAHE]

(1) [REHEFOHEE]
O [BEE (REHREE) )
fAA « EEADE HmA R
K4 XA H T4 F )T 4 BEENSH
{EFR A TS AR T104-0033 HREEPREEH)I—T HFIE
B4 X34 B
|REERRT X335 AT FE H
@ [EADBE]
44 A H
i
R S d B
BIH5 SRR
@ [BEADEE]
WMUERR EFo614E11817H
REERA EY— > Ga— R DA F—
RFRE R RERBRILE
HENE RS ENSH B L UH MR TR
@ (=B LoE#Kx]

s DATFVTF A BERRESE V—HN Tk T4 T A
EELEOEKEREYES v FE TR AL )AL Bk BF
EEEE 03 (5541) 6894

() A BmM]

BE DME




(@) [LEREEFOREHRSFEOMNR]
Q [FEHEESOK]

R2TFR D23 IR
FX

274 D233
E1E

HR2TSRM2IFEIR
H2E

% R

1, 000, 000

RS R ERR R

BB TR OEE ¥ B

BB T A M A A F O ()

Clalwm| =

R A Ml FE - 050}

— =D

Bk % YR OREGE #

BE 3% B E TR B AL &

X & E M RE B KB H

=

oGk

1, 000, 600

BELE-ZL

o 0 = mlm

]
R OB ES0OK

% 0 BRE)
tQ0 - P

1, 000, 000

—
.

6| ¥l oo

M
FEEHBHEANOK R
+B+CADAE+F+G+H+ I+ J+HK+L)

0

@ [#HHSREHE]

FITHEBHRBE (B S
(ERL154E6 A 30 H IRAE)

19, 332, 057

LREBHED
HESRFES (%)
@/ R+ X100

5. 17

EHATOHREBICEB S h
BEERARE (%)

(4) [HeBes% il 2 HANMNSEE 1)

YL




